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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2dielsZF M 29,532,030 10,608,218 18,923,812
= 8,238,350
s 1,257,000
= 19,386,680
£ 650,000
ngery 28,776,770 9,860,008 18,916,762
= 8,238,350
s 1,257,000
< 18,631,420
£ 650,000
L xtel &EE I A= 18,021,100 7,953,800 10,067,300
= 3,280,000
s 1,257,000
< 12,834,100
£ 650,000
FIgyEoTme 25 K 1,760,000 810,000 950,000
< 1,110,000
£ 650,000
307 21201 A 270,000 70,000 200,000
02 QAFAAFEX 270,000 0 270,000
OFYLRelslE Vel 24 70,000
Osd gXiiel sgz4dd 200,000
308 XXIEHHSOIA 1,490,000 740,000 750,000
= 840,000
g2 650,000
01 AXHHILEES 200,000 0 200,000
O=xglgor dXtel At =& 200,000
1037/ 2S0HUHSBHEAEALS I 1,290,000 740,000 550,000
OgXteler& sl H = 140,000
OsdgicsgdH=2d 650,000
£ 650,000
O22Zetel HUXRE olzZet RF(FUEA) 500,000
A - o S oA 840,000 783,600 56,400
= 630,000
< 210,000
307 glz2+ol & 840,000 783,600 56,400
= 630,000
< 210,000
02 QIZtE A AHE X 840,000 783,600 56,400
OX9g - &ty & QALLHHMA 7= 840,000
= 630,000
< 210,000
ANEagerEsEd XM @ A 3,534,000 3,312,500 221,500
= 2,650,000
< 884,000
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A FB B (EN) - HRAY - BES 0l &t o il HImEET
307 glz2tol & 3,534,000 3,312,500 221,500
= 2,650,000
< 884,000
02 PIZHEHAHE L 3,534,000 3,312,500 221,500
OXNYatEs dxelzas XNJAAY 3,534,000
= 2,650,000
< 884,000
2Tt e = 28,500 28,500 0
201 LBt2E| 28,500 28,500 0
01 Ar 2rel | 28,500 28,500 0
OgXtel & =& (oaE2) 28,500
ANE3sH Liel AE(E) 70,000 54,000 16,000
s 35,000
= 35,000
101 @124l 46,000 34,000 12,000
s 23,000
< 23,000
04 JIZHHZ2Z2XNSE+ 46,000 34,000 12,000
OXNE2sHd LXelAtd IR ALA 46,000
s 23,000
= 23,000
201 ¢er24l 5,000 4,500 500
s 2,500
= 2,500
01 At 22l 5,000 4,500 500
OXNEZSH LXeIMg =& 5,000
s 2,500
< 2,500
202 044l 5,000 4,500 500
s 2,500
< 2,500
01 SLHOIYI 5,000 4,500 500
OXNdEsH LAl =& 5,000
s 2,500
< 2,500
206 M= Hl 14,000 11,000 3,000
s 7,000
< 7,000
01 M= 4l 14,000 11,000 3,000
OXNGI3SH LAelAg Mg ¢ 14,000
s 7,000
< 7,000
NADSH LX2l A (AZBA) 1,588,600 1,227,200 361,400
as 1,222,000
< 366,600
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5 - 4
S EHH B (B) - HSAY - BLS 0 AF o il HD=2
308 AXISHXMSO0IH 1,588,600 1,227,200 361,400
hag 1,222,000
T 366,600
01 HXHNBMNEXTZ 1,588,600 1,227,200 361,400
OXNEZB2SsH LAelArg =& 1,588,600
ax 1,222,000
= 366,600
NEaELLIIE XS 200,000 200,000 0
308 XX SHAMSOIA 200,000 200,000 0
01 AIXHMBAEXZ 200,000 200,000 0
Ong==xJ1g9 XA 200,000
A~aE0l X& 10,000,000 0 10,000,000
201 LEt2 A Y| 150,000 0 150,000
01 AR 22| I 150,000 0 150,000
O4a30 AISIBEEZ X3 MY 28 150,000
308 AXISHXMSO0IH 9,850,000 0 9,850,000
01 AIXHMBAEXZ 9,850,000 0 9,850,000
OLaZo AlgIBE 2 K& ALY 9,850,000
HELd el e =& 8,709,562 0 8,709,562
= 4,878,350
& 3,831,212
HE LT ALY 228,000 0 228,000
201 Yer2 | 10,000 0 10,000
01 AFR22t2l Yl 10,000 0 10,000
OFEA el AFY HOF Y ZLIHY 29 10,000
307 212t0| & 50,000 0 50,000
02 DI2HE MAIEE X 50,000 0 50,000
O&Y XJ| HEd AH2stw KA 50,000
308 AXISHXSO0IH 168,000 0 168,000
10 SISO UsHE A A EAIS Y 168,000 0 168,000
OoXgus s oMo &sta & FHAXA 100,000
O3ld0ls Z2HE 68,000
NAFEE AT ALY 7,721,562 0 7,721,562
= 4,878,350
= 2,843,212
308 XX S M SO0l & 7,721,562 0 7,721,562
= 4,878,350
= 2,843,212
01 AIXHMBANEXZ 6,621,562 0 6,621,562
OXNg=x=cd 3EdXtel At 6,621,562
= 4,348,850
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= 2,272,712
10 212 SUHUSHEAXEAE AN Y| 1,100,000 0 1,100,000
Osdd 3UEzI &¢=2 ¢ g4 495,000
= 247,500
< 247,500
01839 HEHAY T ME 495,000
2 247,500
= 247,500
OXN<Y 3HE FEXHA 29 110,000
= 34,500
& 75,500
HEEAXAS 760,000 0 760,000
306 52 150,000 0 150,000
o1 s2 150,000 0 150,000
OosY 349 = 150,000
308 XX SHHSOIH 610,000 0 610,000
10 212t S ol O 8t 610,000 0 610,000
Oz28HE 10004 =] 60,000
Os&YE W 200,000
OX™dY 0ts&E 1 50,000
S FUES 300,000
=) |=&d 690,000 690,000 0
JlsZdJta X& 690,000 690,000 0
308 XAHXIGH SO0l & 690,000 690,000 0
10 212 S0l O &t 690,000 690,000 0
OJls&dolug 580,000
O4xt MHSHA 100,000
OJIsdoltia &#IMX Ms2l 10,000
AFE X 1,356,108 1,216,208 139,900
= 80,000
& 1,276,108
NEasd3M 2= 2,708 2,708 0
203 € R F=&d| 2,708 2,708 0
03 AIEH =X 2 F XY 2,708 2,708 0
oOnsLs3dx 2,708
CEEY =X 128,400 72,400 56,000
201 et d9d| 128,400 72,400 56,000
01 AR 22l ] 112,200 56,200 56,000
OksdYduN=s =4 40,000
OksdHYdEs 2 &9 6,000
OYHAMAE CIANNCSRHEE 299 10,000
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